BD139

TO-126 Plastic-Encapsulate Transistors
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MAXIMUM RATINGS AND CHARACTERISTICS
@ 25°C Ambient Temperature (unless otherwise noted)
Parameter Symbol Valuelue Unit
Collector-Base Voltage Veeo 180 \Y;
Collector-Emitter Voltage Vceo 120 vV
Emitter-Base Voltage Veso 5 \%
Collector Current Ic 1.5 A
Collector Power Dissipation Pc 1.25 w
Thermal Resistance From Junction To Ambient Resa 100 ‘C/W
Junction Temperature T 150 C
Storage Temperature Tstg -55~+150 C
ELECTRICAL CHARACTERISTICS Ta=25C unless otherwise specified
Paramet Symbol Test Conditions Min Typ Max Unit
er
Collector-base breakdown voltage Vericeo lc= 0.1mA, =0 180 \Y
Collector-emitter sustaining voltage Vceo(sus) 1c=0.03A,1g=0 120 \VJ
Emitter-base breakdown voltage V(eRr)EBO I[e=0.1mA,Ic=0 5 \Y
Collector cut-off current lceo Vce=30V,lg=0 0.1 MA
Emitter cut-off current leBO Ves=5V,lc=0 10 MA
heeq) Vee=2V, 1c=150mA 100 200
DC current gain hee) Vce=2V, Ic=5mA 25
hFE(3) VCE=2V, |c=500mA
Collector-emitter saturation voltage VcE(sat) Ic=500mA, Ig=50mA 0.5
Base-emitter voltage Vee Vee=2V, Ic=500mA 11 \

* Pulse test: pulse width <350us, duty cycle< 2.0%.

http://www.lujingsemi.com

2017.6-Rev.A




== =
a - BD139
04 Static Characteristic
i T H H H
COMMON
- EMITTER
_ T=25C : :
< 03 . - 2mA : i
o 1.8mA —————d— z
=
£ 1.6mA 3
& 1.4mA =
o 0.2 - w
=) B o
2 g
g o
= (@]
(@] [a]
w
=4 o1
o)
(@]
0.0
0 2 4 6 8 10 100 1000 1500
COLLECTOR-EMITTER VOLTAGE V. (V) COLLECTOR CURRENT I, (mA)
VCEsat IC
350 o — -
z
o
1000 ':(
z x o
o 2E
E> | <
<E B .
e = x &
=) L.
E 35 = >
5.4 =
> 1}
g o
= w hd 'i:
=4 g3
ks T
w O ]
2> 3
@ o
: i 0 s
10 100 1000 1500 10 100 1000 1500
COLLECTOR CURRENT I, (mA) COLLECTOR CURRENT I, (mA)
P — T
1500 ; 3 VBE. - 1600 ° 2
VCE=2V : /
z
o 1400
= [=
P
£ T
1) %) 1200
< D~
o=
£ @ £ 1000
u o 2 .
[ Ta=100°C oo
=) : a 800
(S} e
o o
] 3 600
3} bt
i 2
6‘ o 400
(@]

400

600
BASE-EMITTER VOLTAGE

800
V,(mV)

1000

200

50 75 100

AMBIENT TEMPERATURE T, (C)

http://www.lujingsemi.com

2017.6-Rev.A



